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13 [2 6 EIES BiR-MTIhRE  [/5 40.37 40.37
14 |1 3 BE BE (BIR-ITHIRE /S 40.54 40.54
15 |1 2 BB iR A EREESSTN6 42.20 42.20
1 5 KHE M |EE-RFEh /N6 ZIE
OPEN]1 1 EWR 3N |Z=E-ZE2HEE |5 38.80 38.80
OPEN/1 6 A g | =5 KT KA [/6 40.90 40.90
FEtiNo:18 BF /\ZT54 50m Fik
FHAREEI:S K% fE% = |35 L E:S 50m T00m
1 3 2 KB BEX | EE- EEH /NG 33.26 X% 33.26
2 3 3 A #AX |HE-SEhas /6 33.31 BX%# 33.31
3 3 6 Ik Bt | EE-ERHTRE |6 34.48 34.48
4 3 5 x5 B |[BE-SEhaBE |6 34.91 34.91
5 3 4 TR Eh | FE-SEmAT /NS 35.27 35.27
6 3 1 B¢ ZFth |FE-SETas /6 35.99 35.99
7 2 4 g E =E-REAMEE [/ 36.14 36.14
8 2 3 Hft B85 |[TE-SEmH /NG 36.53 36.53
9 2 1 S EE-BERHTRE [/6 39.85 39.85
102 |6 |[/NB K | Zmmem_ [/5 | 41.88 41.88
11 1 4 R BE [LE-FHmh /NG 42.15 4215
12 |2 2 M M [FE-BESHKBENE [/6 43.24 43.24
13 [1 3 me =F- KBTI KA /6 43.34 43.34
14 ]2 5 & B |=F-KEEETKAELW [/MS 43.88 43.88
15 |1 2 R —5 |LE-FPhm /NG 43.99 43.99
16 |1 1 B KfE |- KEEEIZT[/N6 50.90 50.90
17 |1 5 fE BE  |BE-SAHA=ZE /M [1:00.95 1:00.95
1 6 UaIAR JEfC  [SRym- /N F /I /NG e
FRlENo:19 ZF /NZT5A 50m Fif =~
JEBAL | #8 | KE& K% P4 2R |3 —ILAA L =H 50m 100m
1 3 4 MR #BF  |EE-AOEETEAH2 33.87 33.87
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2 3 6 ERIEE |=Z5-Z24HmEE  |F3 34.57 34.57
3 2 3 B0 Imfhk  [ZIh-/DEFETH/DI |2 34.77 34.77
4 3 3 FW BAF |BR-SAEATA=E |F3 34.90 34.90
5 3 5 AR BEE L |REC-ADEETR/DI|F2 34.98 34.98
6 3 2 ¥ F58 |Z=2-Z2HmEE  |F3 35.32 35.32
7 3 1 TR 8 & _EARRT 1 35.56 35.56
8 2 2 2K % |Z=E-ZE2HmEE  |H1 35.97 35.97
9 2 4 A BRF]  |BR-#TIHRE  |$3 36.08 36.08
10 [2 5 Ef BEF |Zk-ZEETEE P2 36.60 36.60
11 2 1 I F& |BE-WIHRE  |[$1 38.61 38.61
12 |1 3 =0 B |BR-ZrETEE  |$2 39.02 39.02
13 |1 2 BH T8 |EE-EAIIE i1 41.29 41.29
14 |1 4 Er Kig |SIR-WTHRE |di 43.52 43.52
BEFN0:20 BF N\AJTA 50m T
NG [ 4B | JKER K% i e 2R |3 —ILAA L =H 50m 100m
1 2 2 ME BE [RE-ARET th3 30.20 30.20
2 2 3 MY B— [EE-RELHEE |41 31.14 31.14
3 2 5 E,F';T: FE  |SR-mEHIEN [$3 31.62 31.62
4 2 1 =0 TR -SEETEE (3 33.17 33.17
5 2 6 'r’rm BX [=ZF-%4HTEE [$3 33.52 33.52
6 1 3 2 =K  |EE-EARAIIE th2 33.90 33.90
7 1 4 HE TR [EE-hIHET 2 34.15 34.15
8 2 4 IRAR HA  |BE-NIHRE |1 34.19 34.19
9 1 5 xiE S |BR-EEETEE | 34.79 34.79
10 |1 1 =i Ik £E - 2 36.89 36.89
11 1 6 BiIH *”143 BE-SETEE  |$2 37.01 37.01
12 [1 2 PH F =—F-AIcHTRALL (2 37.96 37.96
FRfENo:21 X BikE 50m P __
NEG [ 8 | KE K4 P4 2R |3 —ILAA L =H 50m 100m
1 2 3 xiE BS  |BR-ZEBTEE /M 41.48 41.48
2 3 3 Fik B [=F-E2TERE /M 41.74 41.74
3 3 5 HOXRE |EE-WEh N4 42 35 42 35
4 3 4 MR BE | EE- EEE N4 43.65 43.65
5 3 1 IREOEKY  Z&RE-/ADEETDMII /M 43.88 43.88
6 3 6 AR BK | EE- EEE V4 44.82 44,82
7 3 2 ik BRE (=2 -REZHEE /M 45.83 45.83
8 2 6 HEAFE |E¥-KHHE /N4 46.53 46.53
9 2 5 EE ¥ & - _EARRT /N3 46.69 46.69
10 |2 2 FE BBE  |ZREC-FHEHR I\4 51.91 51.91
11 1 4 SRtaE  |HE-AKEEEISI/M 51.98 51.98
12 |1 3 1t = K¥ - R EHHE /N4 53.33 53.33
13 |2 4 FE ¥ |=ZF5-Z24H0RE  [/IM 53.42 53.42
14 |1 2 {hHE f‘* - AREEESSI|/M 57.39 57.39
2 1 ® RS #BE-SETmEE |/ ZiE
OPEN[1 5 78l ##F |EE- EARHT /N4 46.23 46.23
BitaNo22 B F Lk 50m Fik
NG [ B | JKER K#£ P2 ZR |3 —ILAA L =H 50m 100m
1 3 3 M EBE [#E-SETas8E |/ 38.23 AX D F 38.23
2 3 5 WA BE |#EE-fWEh N4 4219 4219
3 3 4 FiE g [=Z=F-FHEE  |/M 42.60 4260
4 3 2 ¥ —% |=Z=5-Z2hmEE |/ 43.07 43.07
5 3 6 HHEZR |fEE-FEh /N4 43.13 43.13
6 2 2 P 58 [EE- L ARET N4 44.52 4452
7 2 5 IBE ZEth  [(RAl-BlUhEX /M 4598 4598
8 2 3 N B HE-sETeE |3 46.22 46.22
9 2 4 HiB $hth [REC-ITATEE /M 46.95 46.95
10 |2 1 2l BE |FE-SEhmas  |/3 47.08 47.08
11 2 6 TE St | EE- LEET /N4 48.72 48.72
12 1 3 AT Zw | EE-FEHE /N3 48.91 4891
13 |3 1 Hf F#  [Z¥E-BEE /N4 48.92 48.92
14 |1 4 =2k E —E-Z2HTEE [/3 50.00 50.00
15 |1 2 ER = iR A EEESS TN 50.63 50.63
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16 1 5 I BRI | BiR-S F-TjCE.% /3 [1:03.84 1:03.84
OPEN[1 1 X7 BFE |#E =ETeE |3 46.29 46.29
OPEN[1 6 npE B |#E-SETesS /3 48.62 48.62
FiieNo:23 X F &k 50m P
NG [ #8 | JKER K% g% R [T —ILAA L =H 50m 100m
1 4 3 BH  fb F & - _FERHT /N6 36.47 36.47
2 4 4 ,ﬁEEI xE |EE-FEh /NG 36.55 36.55
3 4 6 Bk fnZE [EE-T)IE /NG 37.59 37.59
4 4 2 #Eﬂ XKk |EE-WEH /N6 38.06 38.06
5 4 1 ZiE KB | EE-BERHTRE  [/5 38.08 38.08
6 4 5 R B | BE-MTIHRE /S 38.11 38.11
7 3 2 BE BHE |=F- jc%EEBchWuJ /\6 39.40 39.40
8 3 5 FETHF |[=F-REL2THREE |6 39.52 39.52
9 3 4 Xfn XE |=F- 521%?3{%5% /NG 39.69 39.69
10 3 1 BH HE |HE-SETaE /5 40.93 40.93
11 3 3 Rk B BE-SETaE |16 41.25 41.25
12 |3 6 TH xR |#E-S5Emes |/ 44.32 44.32
13 |2 5 BRG iR A EREESSTN6 44.70 44.70
14 |2 4 2l Bx |BRE-WIHRE [/S 45.92 45.92
15 |2 2 EO FIE | RE-EEAHEHTKAIG 45.96 45.96
16 |2 1 BEEPE | R -KHA /NG 49.54 49.54
17 |1 3 B3 A | E¥-RHEE INS 50.84 50.84
18 [2 6 A HwmE |- AEEEISINS 56.06 56.06
19 |1 4 £ &8 [PRE-AEEFEISINS [ 1:02.79 1:02.79
2 3 HEREE |BE-SAHA=E [/S ZiE
OPEN/1 2 Al EX | ERE- EEH /N6 37.01 37.01
OPEN[1 5 Bl 3 |[=Z=F-FZ2HRE  [/S 42.52 42.52
OPEN/1 1 g BiE |5 - KECETARNI /6 46.38 46.38
FRaN0:24 B F T ke 50m T _
B | #H [ KER K% R4 2R 3 —ILAA s =H 50m 100m
1 4 4 A #X |FE-SEhas |6 36.52 BX 5D # 36.52
2 4 5 IR BEth | EE-RERHTERE |6 36.63 BX % #1 36.63
3 4 2 AB{% Em HE-SETEE /e 36.68 BX R 36.68
4 4 3 BA EE | TE-EEA /N5 36.95 BX R 36.95
5 4 1 &Eﬁk% E[&E- EERET /NG 38.16 38.16
6 4 6 FHAMEAER |EE-FEh /N6 38.39 38.39
7 3 3 het £ [BE-SETEE |16 40.57 40.57
8 3 2 AR JBRE  [REC-/NEET/DIII NG 41.07 41.07
9 2 3 INE FER |IREC-ART /N6 43.04 43.04
10 |3 5 g [F =F-ZA2HEREE [/ 4317 4317
11 [3 1 JE IFEE &I /NG 43.20 43.20
12 |2 4 My BE |[LE-Fhh ING 44.31 44.31
13 [3 6 Al X% |=F-Z%4HmEE |16 45.75 45.75
14 |2 1 =R K57 - HET /NG 45.89 45.89
15 |3 4 fag&x B |=F-KEEETKHELW [/hS 46.18 46.18
16 |2 5 B Rt | TE-BZHEINE /6 48.62 48.62
17 |2 2 T HHEE |BE-SAHTAK=E [/6 50.36 50.36
18 |2 6 BRZEEX | K- RHE INS 54.36 54.36
OPEN[1 2 PN EE-BERTFRE /6 4157 4157
OPEN[1 3 NN FE  [EE- =2ETmEE  [/Is 41.64 41.64
OPEN]1 4 ANEH 85 [#E-2Bhas8E |/ 42.48 42.48
OPEN]1 1 Ath BEE  |=F-XK#HLETKALW /N6 4423 4423
OPEN|1 5 i BEdE  [=F - KRCHT KM /N6 45.37 45.37
pRiiNo:25 ZF FHikE 50m P ___
NG [ 4B | JKER K% P4 2R |3 —ILAA L =H 50m 100m
1 2 3 HiE X% |FE-XKZEHR 1 36.17 36.17
2 2 4 ME Tt =2 ZZmEE |41 37.28 37.28
3 2 2 F ¥ |=E-Z24HmEE  [F3 37.39 37.39
4 2 5 ERINEE |Z5-Z24HmEE  |F3 38.31 38.31
5 2 1 I & |BE-WIHRE [P 38.54 38.54
6 2 6 ER 5 E[&E- _EERET i1 40.05 40.05
7 1 3 b BAX (iR -ZmETEE B3 40.17 40.17
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8 1 2 XL fx  |BR-#NIHRE  |§F 41.10 41.10

9 1 4 TE BEE |EBE ESEEAT r=3 42 .32 42.32

10 1 5 =0 BE |BR-EEETEE  |$2 43.40 43.40

11 1 1 5 RfE |SE-#NIHRE [P 4406 4406

12 |1 6 SFH | EE-)IE g1 44.14 44.14

NG [ B | JKER K% il e R | T—ILAA L =H 50m 100m
1 2 5 BOEXRE | ERE- EEET 3 34.87 34.87

2 2 4 Al #3E  |#E-SEhas  |$2 35.07 35.07

3 2 2 EH BE  |ZRB-/ADEFETEER (1 35.39 35.39

4 2 1 B iFIJ.:. TR -SRETEE | 36.80 36.80

5 2 3 FK & =E-REAMEE  [$2 36.94 36.94

6 1 4 ZA ,nﬁ =5 - KRBT KAWL g1 37.91 37.91

7 1 3 g _E ZL2HEE  [d1 38.31 38.31

8 2 6 LT e aEhes |P2 38.54 38.54

9 1 2 HiE TR ,\Fi i J || T 2 39.76 39.76

101 5 HE B | REF-KEHA 3 45.62 45.62

11 1 1 RZEMD | K- REE f3 51.59 51.59

OPEN]1 6 me [FE (=5 -AeATARNLL (2 | 4083 40.83

BEHNo:29 Z+ B 100m Rk _

NG [ 4B | JKER K% P4 R | T—ILAA L =H 50m 100m
1 1 4 L HAF ﬁtﬁ SAMA=E [$3 | 1:.0547 1:05.47
2 1 3 MR BF  |[EE-AOZEILEAT2 [ 1:05.61 1:05.61
3 1 2 Ak TiE-TREEE  [$P2 |1.07.35 1:07.35
4 1 5 AR BBE |- /DEFET/I |2 | 1:08.58 1:08.58
5 1 6 ¥ BAK  [ZiE-ZmETEE |3 | 1:09.51 1:09.51
6 1 1 #HE £ |[=5-RLHEE  [P1 [ 1:09.66 1:09.66
FitkNo:30 B+ HHHZ 100m RE; _

NG [ #8 | JKER K% g% R [T —ILAA L =M 50m 100m
1 1 3 BOEARE | EE- EEET $3 59.64 X # 59.64
2 1 4 faFx ME  |SR-mA+IIEN |3 [1:0044 CX7n# 1:00.44
2 1 5 = B TIE-SRETEE P3| 1:00.44 CELO#H 1:00.44
4 1 2 MY B—  |ZE-Z4HES [F1 [ 1:02.06 1:02.06
5 1 1 fml fE |[EE-SEhes  |$2 [1:.02.37 1:02.37
6 1 6 B [SH-uBH)EEN [$3 | 1:02.90 1:02.90
3EFENo:31 ZF B 50m RES

NG [ #B | JKER K4 P4 R | T—ILAA L =H 50m 100m
1 1 3 B BA | BR-ZEETEE [/ 34.79 34.79

2 1 2 MR BEAm |- ERRHET N4 35.24 35.24

3 1 4 HOXRE |EE-WEh N4 35.79 35.79

4 1 1 FiE Bid |=F-ZELHEE  |/M 36.53 36.53

5 1 5 gk BRE |=E-RE2HEE |/ 36.84 36.84

6 1 6 FEAIE |Z=B-REHTEE [/ [ 3721 37.21
FiFENo:32 B ¥ B 50m R _

[RAETEET B B =ik | O— L3 L =M 50m T00m
1 1 3 BAR Bt |EE-FEh N4 32.35 X5 #r 32.35

2 1 4 h At ,ﬁri HE-5EheE /3 34.09 AX D # 34.09

3 1 2 AH =hH | EE-EAIIE V4 34.50 AX 5 F 34.50

4 1 5 FiE g1 |[=F-ZE£TEE |/ 35.02 35.02

5 1 1 WH EF [#E-FEh /N4 36.39 36.39

6 1 6 AX —% |=5-ZE£HEE /3 39.44 39.44

BEHNo:33 X+ B 50m RES _

NG [ #8 | JKER K% FilE4 R | T—ILAA L =H 50m 100m
1 1 3 BIFxZ & -hIET /N6 31.11 X% 31.11

2 1 4 pehe x| ERE-m)IET /N6 31.45 BX o 31.45

3 1 2 EH E[& -k ARHT /NG 31.69 31.69

4 1 5 =Wl £k |#EE-FEH /\6 32.33 32.33

5 1 1 et B [#E-SETeE |16 32.37 32.37

6 1 6 BKEEF |ZE-RELTHEE /6 32.65 32.65
#itiNo:34 BF HHR 50m REE _

IR | #8 | KER K% g4 R | T—ILAA L =H 50m 100m
1 1 3 H X |#gE-2Ehas /6 30.03 X 5 Frk 30.03

R—=UH:9.712
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2 1 2 MR K& |EBE-WEh /\6 30.95 30.95

2 1 4 Ik Eth ,\Fi IERTHERE /6 30.95 30.95

4 1 5 B Eth FE-oETes /6 32.12 32.12

5 1 1 ¥ IEBE ,\EE I BT /NG 32.29 32.29

6 1 6 x5 B |HBE-SETEE /6 33.52 33.52

NG [ B | JKER K% P4 R | T—ILAA L =H 50m 100m
1 1 3 MR BF  |[EE A=K $2 30.48 30.48

2 1 2 ZU BAF |BR-SAEATAK=E |F3 30.98 30.98

3 1 1 A FE  |[EE-SrRlETHEE B2 31.40 31.40

4 1 5 EE 5= Fo & - _EERET i1 31.48 31.48

5 1 4 =i k¥ |=EE-ZL2HEE  [$3 31.59 31.59

6 1 6 Hix % |FE-XKZEM B 31.98 31.98

FiFENo:36 B F B H 50m R _

[RAEEET K& B =k | O— LB L EE 50m T00m
1 1 3 G MmE  |SE-mAHINEN |3 27.65 X 9% 27.65

2 1 5 BOEARE | EE- EEHE 3 27.83 CER#H 27.83

3 1 4 = B TR -SEATEE  [$3 28.26 CELOFH 28.26

4 1 2 MDY B— [EE-REAHEE |H1 28.49 CERR# 28.49

5 1 1 E& SN RINEINIEE 28.66 28.66

6 1 6 A X |ZE-ZXHRE [F3 28.89 28.89

FitaNo:3] ZF vk 50m Rk _

NEsz [ B | KE K4 P4 I EERTE RPN =H 50m 100m
1 1 3 xiE BS  |BR-ZEBTEE /M 40.47 AX D F 40.47

2 1 2 HOEAE |EE-FEH /N4 41.93 41.93

3 1 5 MR BEAS | EE- LEHE /N4 43.30 43.30

4 1 6 EH Bk | EE- EAE /N4 43.45 43.45

5 1 4 FiEk B [Z=2-ZLZTEE |/ 51.88 51.88

6 1 1 REVDEY  |ZR-/AEFEF/ANI (M | 5840 58.40

FRiNo:38 B F k= 50m JRER _

JESZ | #8 | JKE& K% g4 R | T—ILAA L =H 50m 100m
1 1 3 hf BE [BE-SETESE |/ 37.94 X5 #r 37.94

2 1 4 WH BF |[#EE- Bﬁlﬁﬁr? N4 41.16 X5 ¥ 41.16

3 1 2 Bk #EE |=E2-Z2L4H0EE [V 42.00 42.00

4 1 5 ¥ —% |=Z=2-Z2t1REE |3 42.44 42 44

5 1 1 HAEZER [EE- Bﬁfﬁﬁ N4 42 65 42 65

6 1 6 PRuz 588 [ FjE- EARHT /N4 44.14 44.14
BEHNo:39 ZF B ikE 50m R

NG [ #B | JKER K% il R | T—ILAA L =H 50m 100m
1 1 3 BEH b FJ&E - - ERET /N6 36.55 36.55

2 1 4 EH EE  |#EE-FET /N6 36.68 36.68

3 1 1 T EFH | EE-REERHERE /S 36.92 36.92

4 1 2 g E | EE-m)IE /N6 37.76 37.76

5 1 5 EH XK |fEE-FEh /NG 38.04 38.04

6 1 6 BEE M [BIR-HNTHRE [/ 38.10 38.10

FriNo:40 B F & k= 50m R bs

RAEEETIE E% B =k | O— L3 L EE 50m T00m
1 1 5 B EA | TE-FEEA N5 35.83 X5 #h 35.83

2 1 3 FHE 1‘$7§ HE-SETEE |6 35.86 BX 2 35.86

3 1 2 B FEth  |[BE-SEhaSE  [/6 36.12 X% 36.12

4 1 4 IR Bt | EE-ERTERE /6 36.62 BX o 36.62

5 1 1 AREXREY | EE- _EARET /N6 38.02 38.02

6 1 6 HAEARL |ES-FEm /NG 38.77 38.77

BRbiNo:41 ZF vk 50m Rk _

NG [ #8 | JKER K% P4 R | T—ILAA L =H 50m 100m
1 1 3 HiF X8 |FE-XKZEHR 1 35.93 35.93

2 1 2 # WHMF |ZEE-ZEZHRE  |$3 36.43 36.43

3 1 4 ZE IE =5 -FZLZHTEE |1 37.05 37.05

4 1 5 ERINEE |Z5-Z24HmEE  |F3 37.54 37.54

5 1 1 I F& |BE-WIHRE [P 37.62 37.62

6 1 6 R 5 & EERET 1 38.86 38.86

R—I#:1012
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FEfiNo:42 BF BikE 50m RS _

NG [ B | JKER K% P4 R | T—ILAA L =H 50m 100m
1 1 1 BK =5 -ZZHEE [h?2 32.95 32.95

2 1 4 mlll Mg |FE-SEhas  |$2 34.49 34.49

3 1 2 £H BE  |ZRB-/ADEETEER (1 34.74 34.74

4 1 3 BOEXRE | EE- EEET $3 35.24 35.24

5 1 5 xiE AE |BR-EEETEE |5 36.18 36.18

6 1 6 ZFA Al |5 -AIRCHTARLL [P 37.25 37.25

FriNo:43 ZF k= 50m Rbs _

BTG | A 71<E§ K% B =k | O— LB L EE 50m T00m
1 1 5 XEFSbA Alll-BlUHEX /M 4802 4802

2 1 3 B BE | BR-EEETEE /M 48.09 48.09

3 1 1 FEHIE |ZE-RETRE |/ 48.90 48.90

4 1 4 FE Ehn |=5-E2TEE |/ 49.17 49.17

5 1 2 RMALEH |ER-WTIHRE [/M 49.36 49.36

6 1 6 Bng = T -2 HEE [ 50.48 50.48

FRbaNo:44 B F Tk 50m Rk _

NG [ 4B | JKER K4 il R | T—ILAA L =H 50m 100m
1 1 3 AH =hH | EE-EAIIE /N4 45.63 AX 5 F 45.63

2 1 4 AR —% |ZE5-Z2HmREE |/ 46.32 X5 46.32

3 1 5 PG 58 |- _EERET /4 47.72 4772

4 1 2 BH BEA |BE-WIHhRE [/ 49.02 49.02

5 1 1 BEE ZEth [(All-BlUhEExR /M 49.35 49.35

6 1 6 HFT B8 | EE- FAET N3 51.22 51.22

FRtuNo:4b &F FikE 50m REF

IERL] %8 | K] K& | ‘ie# = 3L L E:S 50m T00m
1 1 3 hi B [#BE-SETEE |6 39.00 39.00

2 1 4 BIIFXZ=R | EE-m)IHE /NG 43.56 43.56

3 1 1 T KB | EE-EERTHERE |/ 43.75 43.75

4 1 2 A T8 | EE-WERHRE /5 43.77 43.77

5 1 6 BKEEF |ZE-FZE2THEE  [/6 4408 4408

6 1 5 Bfomny  [REE-/NSEETH/NII NG 44.51 44.51

FEfENo:46 B+ FikE 50m RS _

NG [ B | JKE K£ P4 R | T—ILAA L =H 50m 100m
1 1 4 HM B& |TiE-SEmfr /N6 41.74 41.74

2 1 5 KE BA | EE- EAHET /NG 41.81 41.81

3 1 3 BIE =KX |[HE-SEBha8 [/N6 4229 4229

4 1 2 ¥ OIEEE S E-ThIET /NG 42.93 4293

5 1 1 ANE 5 |[#E-2Bhaes |/ 43.19 43.19

6 1 6 PR = (B SETeS |6 43.49 43.49

FriNo:4] ZF k= 50m Rbs

RAEEETIEN-T3 B =k | O— LB L EE 50m T00m
1 1 3 Z ir |==2-ZETHEE |43 38.59 38.59

2 1 2 LE tis |EE-EEH 1 39.57 39.57

3 1 4 =i k¥ |=FE-FZE4HEE  [H3 40.02 40.02

4 1 1 T H BiR-#UIthRE [ 40.32 40.32

5 1 5 EH Fx  |[BE-WITIHRE  [$3 41.05 41.05

6 1 6 EA EE |=E-REL£TEE  |$i 42.40 42 40

FEfENo:48 B+ FikE 50m R _

NGz [ B | JKE K£ P4 R | T—ILAA L =H 50m 100m
1 1 3 =B i |BR-WIhRE |§1 36.76 36.76

2 1 4 MR XK |ZEE-ZEZHTRE  |$3 36.99 36.99

3 1 2 K = ZA4HTEE [F2 37.19 37.19

4 1 5 pIEH 4 [#E SEBTs 2 38.33 38.33

5 1 1 EE 1K E&E-1IET 2 38.50 38.50

6 1 6 A R ZE - KRCHAT KAWL |H1 39.58 39.58

#i1EN0:49 ZF /33T 4 50m SR

[RAETEES K% B =k | O— L3 L EE 50m 100m
1 1 3 MR ES | EE- LEHE /N4 40.80 40.80

2 1 4 FERAIE |ZE-ZELTHEE  |/M 42.84 42.84

3 1 2 g BE |=F-Z4hmEE /M 43.21 43.21

4 1 5 NS HBE |BE-NIHmRE [/ 43.28 43.28
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5 1 1 Fik B [=F-Z2HEE |/ 47.66 47.66

6 1 6 MR % & _EARET /N3 47.69 47.69

FriiNo:50 B F /2T 4 50m R _

B | #H [ KER K% B4 2R 3 — LA s =H 50m 100m
1 1 3 BEAR Bt |EE-FEH /M4 34.77 X% 34.77

2 1 4 hf EBE [HE-SETasE  [/3 36.51 X9 36.51

3 1 2 Fk g |ZE-Z24HmEE /M 38.89 38.89

4 1 1 Bt 3t TIE-SEmHET /N3 40.17 40.17

5 1 5 AH =& ,\Fﬁ ¥4 I HT N4 40.58 40.58

6 1 6 NH %X |[#E-SEmss |/ 44.29 44.29

FitENo51 ZF /33T 54 50m ,J&F% _

HAEEER K% fiE% ZR 3L L E:: 50m 100m
1 1 3 kg B8 [ZRE-EBHEE /NG 34.03 BX R 34.03

2 1 4 FTH #&F  |EE-FEh /NG 34.32 34.32

3 1 2 BIIEXER | EE-HIE /NG 35.59 35.59

4 1 1 hi B [#BE-SETEE |6 35.72 35.72

5 1 5 Rl Xt |=F-ZAHEE /6 36.02 36.02

6 1 6 EH 4 E[&E- EARET /NG 36.05 36.05

FrtiNo:52 B F /N\2T54 50m RE _

B | #H [ /KB K% B4 2R 3 — LA s =H 50m 100m
1 1 4 A #X |5 -SEhmas |6 33.01 BX 52 # 33.01

2 1 3 KeE BAX | EE- EEHE /N6 33.25 B2 # 33.25

3 1 5 x5 B |HE-SBETsE  [/6 34.12 34.12

4 1 2 IR Bt | EE-EERHERE |6 34.26 34.26

5 1 1 FKR EMA ?ﬁ SEEAT /N5 34.77 34.77

6 1 6 Bk Eth #E-SEheE  [/6 36.44 36.44

FRtNo:53 ZF /\3J 74 50m J&F?? _

HAEEER K% PEE2 ZR 3L L E:: 50m 100m
1 1 3 MR BF  |[EE-AHO=ETIEEEF2 32.99 32.99

2 1 4 ERINEBE |=Z=5-Z24H1EE  |F3 33.63 33.63

3 1 5 ZW BAF |BR-SAEATAK=E |F3 33.84 33.84

4 1 2 B0 ImiE [/ EFEF/DNI [F2 34.04 34.04

5 1 6 ¥ F5 |Z=5-Z2HmEE  |F3 34.90 34.90

6 1 1 AR BEO\RE-/ANEET/NNII[F2 35.78 35.78

FrtiNo:b4 B F /N2T54 50m RE _

B | #H [ /KB K% B4 2R 3 —ILAA s =H 50m 100m
1 1 3 Mg HE REC-ERET 3 29.90 CELo# 29.90

2 1 4 My = |=E-Z4mEE [H1 30.82 30.82

3 1 2 faFx MmE  |[SR-mA+HIIEN [$3 31.53 31.53

4 1 5 =0 R g -SRETEE |3 32.52 32.52

5 1 6 2 =X |EE-EARAJIE th2 33.14 33.14

6 1 1 MR A |=E5-ZE2HEE  [F3 33.26 33.26

R—I#:12./12




